
1) Solve 1q2 + 6q - 5 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

2) Factorise q2 + 7q + 10

Answer: ____________

3) Solve 8q2 + 6q - 13 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

4) Solve 17f2 + 10f - 14 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

5) Solve 13q2 + 10q - 18 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

6) Solve 13d2 - 6d - 1 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

7) (q16)10

Answer: ____________

8) Solve 19s2 - 14s - 15 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

9) Factorise j2 + 4j + 4

Answer: ____________

10) Factorise d2 + 10d + 16

Answer: ____________

11) Factorise s2 + 12s + 20

Answer: ____________

12) Solve 17q2 - 2q - 7 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

13) 66 / 67

Answer: ____________

14) Solve 4j2 - 5j - 5 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

15) Solve 3q2 - 10q - 9 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________
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16) Factorise q2 + 5q + 6

Answer: ____________

17) Factorise d2 + 6d + 8

Answer: ____________

18) (m5)7

Answer: ____________

19) Solve 15q2 - 18q - 13 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

20) Solve 5q2 + 18q + 4 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

Total: ___ / 20
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Answers:

1) q = 0.7 or -6.7 2) (q + 2)(q + 5) 3) q = 1 or -1.7 4) f = 0.7 or -1.2 5) q = 0.9 or -1.6 6) d = 0.6 or -0.1 7) q160

8) s = 1.3 or -0.6 9) (j + 2)(j + 2) 10) (d + 2)(d + 8) 11) (s + 2)(s + 10) 12) q = 0.7 or -0.6 13) 6-1 14) j = 1.9 or -0.7

15) q = 4.1 or -0.7 16) (q + 2)(q + 3) 17) (d + 2)(d + 4) 18) m35 19) q = 1.7 or -0.5 20) q = -0.2 or -3.4
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